
THE CE Of The Economy

W : price of good x/leisurel
pi -- n 2 /consumption)

W= .

real wage

-
firm
- max p(zk) - wX(=> mX 2 - wX

X-
, o

X-,

Somrow: = => Xin) = t2 Firm's Labor Demand

Hence : 25(w) = 2Vxi) = E . T(w) = = - w(z) = =



G-ze
-

-

Nex
2 Xy &

Mrs = Z =
w

(x
, 3) = It+

s . t
.

wX + y E24w
+ π(w)0 ;

wx + y = 24w + i(w)8 ;

HENCE

I

&

Xi(w) =12 12 Worker's Labor supply

3i(w) = 12w+ Worker's DEMAND of Consumption

Market (cesmNs : (2) -X
.
(w)) + 124 - xz(w)) = Xg(w)

-

i

.

2 .

&

24 - Otor =ze we we

THUS
,

In The CE F , MM's

Labor is Xf(wa = (ton) = 6,
Out Put is 24 =8 .

ProFiT is to = I

Marnat Cherie

↳t
p = I

=> w = "y
=

=<



CE ALLOCATION :

=

xi = 12+ = 12 + 00 ;

z = 12 . (t)+ =
3 + 20 ,

Zi

28 :

8 ·

48* X
,

G 24 32



0. = 02 = - = (x,y) = (16 , 4) ,
i + 30 , 2)

2 ;

28 : T

8 ·

y = · 2

-X;
G G 24 32 48

u*



&
n
= 1

, 02 = 0 => (x +, ys) = 120 ,
5)

,
(2 . (2) = (02 , 3)

2

28 :

8 ·

·

-
G

zo 24 32 48
- Y

1



-

In Firms/RATEL Than 1)
,

some Technolog
,
OFol

,
02 = 10 , 1)

M ONKET CLEARING :

(2) - X
.
(w)) + (24 - xz(w)) =2x

&
(w) w = +

2 (172) = E (=) 24 - Er = E2E>0 = t

Zi Employment : * = 1S

OUTPUT 2(258) = 11
.
3

2(2)· CE ALLOCATION : ((16 ,
5

.

65)
,
(16

,
5 . 65)

28

45
·

8 ·

5.65 -

~ X
G 48


